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& %% 1 Het=33% > Hb=11.0 g/dL > RBC=5.0x10%uL > MCV =66 fL » MCH=22 pg
MCHC=33 g/dL » %}k 3£ =0.8% > & -] = £ & » WBC=32,000/pL > A ¥ #* "%’
¢ 3k =25,000/ul 0 i ¥ 5k =3,200/uL - H %3k =3,400/ul - ‘1?5 pe 3k =0/uL > V%’
s [+ 3k =0/uL o

i g i 8 ¢ BUN=13 mg/dL - Creatinine=0.6 mg/dL - Protein=4.0 g/dL > Albumin=1.3 g/dL -
Amylase=1542 U/L > ALP=800 U/L » ALT=120 U/L > Glucose =85 mg/dL -
Sodium = 148 mmol/L > Potassium = 5.1 mmol/L » Chloride = 110 mmol/L -
Triglyceride = 80 mg/dL - Calcium = 7.0 mg/dL > Phosphorus =4.1 mg/dL -
T. bilirubin=1.1 mg/dL - Cholesterol=150 mg/dL -
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